5. /o4

5404 A siphon is used to draw water at 70°F from a farge
container as indicated in Fig. P5.10% The inside diameter of the
siphon line is 1 in. and the pipe centerline rises 3 ft above the
essent:a]]y constant water level in the tank. Show that by vary-
ing the length of the siphon below the water level, A, the rate
of flow through the siphon can be changed. Assuming friction-
less flow, determine the maximum flowrate possible through
the siphon. The limiting condition is the occurrence of cavita-
tion in the siphon. Will the actual maximum flow be more or
less than the frictionless value? Explain.
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FIGURE P5.104
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With Es. 3 and ¥ we conclude that any loss wonld ad 7o
lower fhe value of V jn Me Spphon and Thus miake fthe
actvad  maximum flowvte with | Friction [ess Than The maxt mur,
FHowyate withoul  frction.
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